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DIPLOMA IN EARLY CHILDHOOD CARE
AND EDUCATION

Term-End Examination

June, 2010

DECE-1 : ORGANIZING CHILD CARE SERVICES

Time : 3 hours	 Maximum Marks : 100

Note : Question No. 1 is compulsory. Answer any other four

questions.

	

1.	 (a)	 A preschool education working with a
group of 20 three year old children has
planned to organize the following activities
with the children during three days : 	 3x7=21

Playing in the sandpit and on swings - An

	

f."-)	 outdoor activity

Finger painting

Drawing and Colouring with crayons

Thread painting

Indoor free play

Paper tearing and pasting

Story telling by educator
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Playing with blocks

Rhymes

Story telling by children

Threading beads

Three activities on the theme "Summer
Season"

Gardening

Snacks

Toiletting and washing hands.

Suggest to the educator how she should schedule
these activities over three days. Keep in mind that
each activity should be scheduled at least once
over the three day period. Some of the activities,
however may be repeated over the three days.
You may add some activities other than those
that have been listed. Note that these activities
are being planned in the summer season. Use the
following format to prepare your schedule, and
indicate the time period for each activity.
Time Period Monday Tuesday Wednesday
8.30 - 8.45 a.m Childi en arrive, welcome

11.45 a.m -12 noon Departure
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State in detail the rationale (reasons) for the 10
scheduling of activities done by you.

List the three activities that you have
scheduled on the theme "Summer Season".
Name the areas in which each of these
activities foster development. 	 1x3=3

(d) State an area in which each of the following	 6

activities primarily fosters development.
The first one has been done for you as an
example.

Activity	 Area of development.

Ex :Running	 Gross motor development

Singing

Mapping objects with clay

Identifying animal sounds

Sorting vegetables into groups

Putting pebbles on a line drawn on the
floor

Dancing

2. Suppose you are planning to tell a story to a group
of 5 year olds :

What aspects would you keep in mind when
selecting and narrating the story Z	 5+5=10

Describe any two activities that you
may organize immediately after telling the
story.	 21/2+21/2=5
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(a) Describe the development of thinking in the 	 10
first year of life.

	

(b) Are children of preschool age able to show 	 5
ability of conservation ? Give reasons for
your answer.

(a) Outline the sequence of emergence of gross
and fine motor skills from birth to one year
of age.	 5+5=10

(b) Describe one activity each for fostering the
development of a four year old child in each
of the following areas.	 21/2+21/2=5

Gross motor skills and

Fine motor skills

5.	 (a) What does the term "development" mean 	 5
in context of child development ? -With the
help of examples explain the three main
characteristics of development.

(b) Explain giving examples how does play
help in the :	 5+5=10

social and emotional development of
the child

Language development of the child

6.	 (a) What is meant by the term "autonomy" ? 	 5
Why is it important for the toddler to
develop autonomy ?
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(b)	 What is meant by "altruism" and "empathy" 10
with respect to young children ? What kind
of family setting would help in the
development of altruism and empathy ?

	

7.	 Suppose you are an educator in a preschool
centre :

Why is it important for you to evaluate	 5
children in your group ?

List the tools and methods that you would 	 5
use for evaluating children

(c)	 State the points you will keep in mind while 	 5
evaluating use of space in the preschool
centre.

	

8.	 Write on any three of the following in about 250
words each : 	 5+5+5=15

Nurturing creativity during the early
childhood years.

Influence of gender on the experience of
childhood

Strategies for managing a large group of
preschool children in the centre.

Value of out activities

(e)	 Functions of language during childhood
years
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